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So as not to differentiate in nybw - MIshwa pYnn Row

OVERVIEW'

The X3 concluded that even 1725w InRY nevertheless 1"92 is required
(according to 17127) because of the 123p%p% 127 M ®nw 73713 The exception
is by a Xm°ow X27 Xn2>°n, such as vx W27w 0°1w, where nothing is required;
neither 1"52 nor 21p. The X i attempts to refute this by quoting the m1wn of
Y RN ANy AWK provided that she say 1"53; even though it isa X727 RnP7»
&row! To which the & m3 responds that even by a Riow K77 X0 the 27on
still require saying 1"93, because M°o>wa ponn X5w. The obvious question
here is: If mmHwa ponn K2 requires saying 1"92 even by a Rmow X927 Rn7,
how is it that by v W27 0°3w nothing is required?! Why do we not say
there Mmowa Ponn Xow as well?! mooin deals with this question.
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The explanation of the phrase mmowa P>nn X5W is to be understood to be
referring to a n»w of one person, for then we make a decree in the case
of one 7Y even when it is not mow, that he be required to say 1"52 on
account of one 7%V where it is m2w. If we would not require this one 7°%w to say
1"92 (even) in a case which is not oW (for instance 7V’ AR 7AXY AWRT), then it may
lead that we may inadvertently not require even by a case that is m°ow, that the m%w say

1"52. People may not distinguish between n°5w and oW &5.
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However, we do not make a decree that two should say 1"952 on account
of one. There is no concern that if we exempt two 2’m>w from saying 1"92 that it may
lead that we will not require 1"92 from even one °%w. Everyone will be able to
distinguish two o°m%w from one m°9w. Therefore it is understood that even though we
maintain MMYWwa 7200 X5w that all Mm5w be required to say 1"92; nevertheless this ruling
is limited only to single 2>m%w, but not if there is more that one m>w. In a case of two
2°'m>w then 1"91 is not required.

SUMMARY
nmowa p17nn XYW applies to a mim?w of one; not to a M oW of two.

! See previous '8 X7w 7"7 MO0,
2 See ‘Thinking it over’.
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THINKING IT OVER
There is a similar MooIn previously® discussing the same idea concerning
212> and 712° K. In that MooIn, there was no explanation given why 212 1R
is not included in the 1PN of MMHwa P2nn Xow. It was just a terse statement
of fact. Why did non find it necessary here* to explain the difference
between 717 and "n "2?

3 See the previous MTHwa PN RoW 7"7 Moo,
4 See footnote # 2.
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